
























Orthonormal Vector’ bWtl~l&J  OLS PDWh





Ho0 : al5 = 0 vs H10:  %5 #  0 th$jm Ho MWWh Lag Length = 15

Ho 1 : al4 = 0 VS HI  1 : cllb  # 0 ih.@Tii ~~  bW@l,Iil  Lag Length = 14

Ho2 : al3 = 0 V S H 12 : ~1~  3 + o n'7d@i ~~  umsil  Lag Length = 13

H 014 :a1 =o vs *114: a1 # 0 t-hfjifib  Ho bbtm9ii  Lag Length = 1

P7ngll~~r~Wor519'E~~~~  Hoj : olNej  = 0 Vs ~~~ : sej  # 0 ;

j = 0,1,2 ,...,N-1  IdO
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(1) ill&  Ho0 : ct15  = 0 vs Al0 : al5 # 0 bTlPTL$RB  Ho  t-U
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Yt - &-l = i? ;:
i=o

Y(xtsi- ;xt-i.&+:t;o(;)

Yt
= ~,x,+~,xt~,+h~t~l+Vt  ; t = 2,3r...tT

Gmamiaunis
Yt = aXt+AY t-l+Vt . . ...(l)
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Yt = C a.W1 t-i+ c b.21 t-i+ccx +u
i-o i=o i=o i t-i t ~000~ (1)

194" ai = cd1 , bi = @X1 , ci = @x1 ; 0 < X < 1 ; i = 0,1,2,.., *0.0-  (2)

UM'Mdl  ai, bi, ci mnmmi5  (2) hnmia (1)

CQ a,

=> Yt  = aC  hlw
i=O

t-i+ ’ c Aizt  i+ 8 ; 2x, i+ut
i=o - i=o

ado (l-xL)-l = W(L) = l+hL+X2Lz+X3L3+ 00.

=> (l-XL)Yt  = cxwt+~zt+ext+(l-XL)Ut

=> Yt = ctwt+Bzt+Bxt+XY
t-1

+ bt-Xu,-  1 ) .*a99 (31
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